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- Note: 'Attempt any three questions from below. Answers i‘hould be relevant and precise.
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Q.1 a. Define oversubscnptlon prwxlege” How the esxxstmg sha1e11olders and the value of the
company are be affected by right offering? ' ‘

'b. Trios most recently sold 100 000 units at $7!50 each; its variable operating costs are
$ 3 per unit and its fixed operatmg,costs are! $250,000. Annual interest charges total
$80,000, and the firm has 200,000 shares of ¢rdinary equity outstanding. Assume thét
the firm has a 40 percent tax rate. At what lgvel of sales (in units) would the firm be
having EBIT equals zero? Calculate EPS at Both current level of sales and at 120,000
unit sales level. Using the current $750, OOQ level of sales as a base calculate lhe
firm’s DOL, DFL and DCL. '

Q.2 a Whatis imancnal breakeven analysns" DlSC‘USS the hmltatlons of lmeal breakeven
analysis?
b. As part of your financial planning, you w1sh to purchase a new car in exactly five
~ years. The car u wish to purchase costs $l40(!)0 today and your research indicates that
its price will increase by 2 percent to 4 percer}t per year over the next five years.

Estxmate the price of the car at the end of ﬁve years 1f inflation is
1. 2 percent per year
2. 5 percent per year
- How much more expensive will the car be 1f the rate of inflation is 3 percent higher

than 2 percent.

1

Q3 a. Identify the basic functions of a ﬁnancnl manager and explam the importance ot
these function in the context of or g,amzatlonal success?
b. Write a brief note on hnanc;a] markets?- \

Q4 a. Deﬁne Capital Rationing? How firm organize nwestment process?
b. Crmcally discuss the CAPM?




Q.5

Q.6

Q.7

( 2)

Define homemade leldends‘7 Discuss in brlet the factors that favor low leldend

payout?

. Sunny Industries wishes to accumulate funds to pr ov1de a letuement annuity f01 its

vice president, Javed Umer. Mr. Umer by contract will retire at the end of 12 years.
On retirement he is entitled to receive an annual end of year payment of $42,000 for
20 years. If he dies prior to the end of the 20 year period, the annual payments will
pass to his heirs. During the 12 year period, Sunny wishes to fund the annuity by
making equal end of year payments into an account earning nine percent interest
when the risk free rate is 6 percent. Once the 20 year distribution period begins,
Sunny plans to move the accumulated monies into an account earning a guaranteed
three 'perccnlt per year higher than during accumulation period. At the end of the
distribution period the account balance will equal zero. Note that the first distribution
payment will be received at the end of year 13.

How laxge must Sunny’s annual deposits into the account be in lhe ‘accumulation
period to fund fully Mr. Umer’s retirement annulty‘7

Define bankruptcy cost? DlSCUSS briefly the static theory of capital structure?

Bonds issued by the Tylex food cmpomﬂon have a par value of Rs. 1000/-but ale‘
selling for Rs. 850/~ but have 10 years of maturity. The bond is-paying interes( at a
rate of 12 percent. 'C_omp'ute’the current yield to maturity using average formula?

Xerox company had issued preferred shares five years ago carrying a fixed dividend
of £8 however with the passage of time the inflation rate goes up by 2% and other
factors also changed, as a result-yield to maturity goes up to 12 % hom 8 % Identity
the original issue price of the shares an(l also the current price?

Differentiate between private and public bond issues? A private placement is likely to
have a higher interest rate than a public issue. Why? '

. Gina has just contracted to sell a small parcel of land that she has inherited from her

uncle who had a property worth $48,000, five years ago. The buyer is willing to pay
$18,000 at the closing of the transaction or will pay $2,000, $4,000, $6,000, $8,000
and $10,000 at the beginning of each of the next five years. Because Gina does not
need money right now, she plans to let it accumulate in an account earning 7 percent
annual interest. Given her desire to buy a house at the end of five years after closing
on the sale of the lot, she decides on to choose the payment alternatives. What advncc
you would provide to her if she asks you?




